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Pco2 Vco2+ PN02VN2=(nco2+nN02)RT .......... (1) 

@P~o2VN2 = nco2RT 

Vt= 5+3=8m3 ~\.:i o)_rJI 4.J.:i ç.~ ë° __, .J~\ ~ ~ 
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6iJ PtVt = (nco2 +nN02)RT .................... (2) 

@<= PtVt=Pco2Vco2 + VN02 PN02<={2) .J (1) ~ 

/Al Pt= (69.3x5)t(37.8.8x3) =57.5K.Pa 
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Pc02Vc02 = nC02RT ~ P·C02Vr = nC02 RT 

Pc02Vco2 = P'co2 Vr => P'c02=14.17 K.Pa@J 

1i'T,5 ~ 
P'co2 +P'Noz = .. Of.@KPa=> P'No2 = 57.5 - P'co2=43.3KP~ 
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wl-2 = P2 V2 - Pi VI = nCv(T2 - Tl) 
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BC CA Cycle 
f)..U = nCv(Tc -T8 )::: 4221 !lV = nCv(TA - T,) = -4221 f)..Ur = Lf)..U; =0 
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